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1.

TOURISM ADMINISTRATION AND MANAGEMENT

PAPER - 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Assertion (A) : Ecotourism respects
the environment and
encourages and promotes the
well being of local people.

Reason (R) : Mass tourism may not
do this.

Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Arrange the following organisations
in sequence according to the year of
establishment :

(A) ITDC, IATO, TAAI
(B) IATO, ITDC, TAAI
(C) TAAI ITDC, IATO
(D) ITDC, TAAI, IATO

Match List — | with List =11 ;

List—1 List— 11
(Organisation) (Year of
establishment)
I. ASTA 1. 1945
I1. IATA 2. 1957
I11. ICAO 3. 1951
IV. PATA 4. 1931
Codes :
I inu 1w
A 4 1 2 3
B 3 4 1 2
Cc) 2 1 3 4
D) 1 3 2 4
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4.

Assertion (A) : Pleasing weather is

an important element of
tourism.
Reason (R) Tourists  from

countries with extreme weather
visit hill stations and beaches in
search of fine weather and
sunshine.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A) and (R) are wrong.

(D) (A)istrue and (R) is false.

“God’s Earth in all its fullness and
beauty is for the people.” Who said
this ?

(A) Max Muller

(B) Mark Twain

(C) Thomas Cook

(D) John Cook

Assertion (A) : Tourism results in
the transformation of cultural

events into commercialised
products.

Reason (R) : Technology has made
travel and correspondence
quicker and easier.

Codes :

(A) (A) and (R) are true and (R) is
the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A) is correct, but (R) is wrong.

(D) (A) iswrong, but (R) is correct.
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(D) (A) T &, g (R) TF & | (R) Tel = @i € |
(C) (A)IR(R)To@ e |
2. frefafEd T ®1 STF T a9 & (D) (A) ¥ &, fohg (R) Tor € |
3TIPHH o STAR FATEIT HY
. “TNT % AT SvaY s i e gt
(A) ITDC, IATO, TAAI 5 N
(B) IATO, ITDC, TAAI 3R T H & - 7 v T 8 7
(C) TAAI ITDC, IATO (A) e T
Al (B) ek Za
(D) ITDC, TAAI, IATO )
(C) amETH
3. gELl W g 3 g SR (D) 3%
- | T -1l 6. AWHTT (A) @ WA W UROH
GHCE) (AT 7) Aepfs geat w1 A
. ASTA 1. 1945 SEHRT H EHE |
1. 1ATA 2. 1957 ﬁ(gimﬁ@ﬁgﬁm
1. ICAO 3. 1951 Gl gws“ s
IV. PATA 4. 1931 ey !
*e (A) (A) ¥ (R) <F 7 & A
Lo (R) W& =M= |
A 4 1 2 3 (B) (A) 3iX (R) IH I &, Al
B 3 4 1 2 (R) W&l = =@ & |
Cc 2 1 3 4 (C) (A)T=T, (R) T & |
) 1 3 2 4 (D) (A)TE, (R) T T |
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10.

The former Headquarter of Air India
Limited is

(A) Chennai

(B) Mumbai

(C) Delhi

(D) Calcutta

Assertion (A) : Goods are durable,
services are perishable.

Reason (R) : Goods are produced,
services are done through
buyer-seller interactions.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange the following peaks based

on its altitude from low to high :

(A) Nanga Parbat, Annapurna, Mt.
Everest, Kanchenjunga

(B) Mt. Everest, Kanchenjunga,
Nanga Parbat, Annapurna

(C) Annapurna, Nanga Parbat,
Kanchenjunga, Mt. Everest

(D) Annapurna, Kanchenjunga,
Nanga Parbat, Mt. Everest

Arrange the States according to their

rank in foreign tourist arrivals in

2011 :

(A)  Tamil Nadu, Delhi,
Maharashtra, Uttar Pradesh

(B) Maharashtra, Tamil Nadu,
Delhi, Uttar Pradesh

(C) Tamil Nadu, Uttar Pradesh,
Maharashtra, Delhi

(D) Delhi, Maharashtra,
Nadu, Uttar Pradesh

Tamil
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11.

12.

13.

14.

Match List — | with List =11 :

List— I List— 11
(Biosphere Reserves) (State)
I.  Nokrek 1. Odisha

Il. Dibru-Saikhowa 2. Kerala
I1l. Agasthyamalai 3. Assam
IV. Simlipal 4. Meghalaya
Codes :

N P N W =

\Y
(A)
(B)
(©)
(D)

W WA B -
AR W N
R N PN

Cabinet of which country called
under water meeting in 2009 to
highlight the threat of global
warming to the low lying nations on
the earth

(A) Fiji

(B) The Netherlands
(C) New Zealand
(D) Maldives

Feedback can be used as
(A) creating micro barrier

(B) evaluating effectiveness of
communication

(C) carrying out instructions
(D) Analysing the decoder

Which of the following is not a stage
of team development ?

(A) Storming
(B) Alarming
(C) Forming
(D) Performing
J-93-13



10.

T3 el foties & 9d e fed
3

(A) ==

(B) T

(C) feeedt

(D) ershar

afimeT (A) @ o e B €
Tt T9eR Bl § |

% (R) : S&geT T IR fohaT S €,
Yot RER -k & arem 9
T ST T |

ETE

(A) (A) R (R) ¥ & 3iX (R) Wer
=R |

(B) (A) 3R (R) IH1 I &, Al
(R) T&t =ame @i € |

(C) (A)TEE, g (R) o & |

(D) (A) 7ot &, g (R) T € |

et el = J" 9 S ST
TS & MR T Hand iy

(A) =|111troi?r O, WS U,

CEEE R

(B) WIS WS, wHadwiEl, =mmdd,
bl

(C) 3T=IquT, FYad, HasTer, A<
T

(D) 3T=TqUTT, SHasiel, FMYed, IS
TR

o H a9 2011 U foRst wHesw
IR H 3! ¥ o AR Farerd
FHIT

(A) dferTg, fKoet, TR, 3T use
(B) TeRTe, dferrg, feoelt, STR U_eT
(C) dfemTg, ST US9T, W, faoett
(D) feoet, HeRTe, AfHerTg, TR Use
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11.

12.

13.

14.

-1 Sl GA-11 3 T GAferd i
=it - | =it - 11
(amarafEaT fae) )
l. A 1. 3fitesm
Il. fes d=@mEn 2.
1. 37 OeTs 3. 3@y
V. fawetiare 4. TEe
FT
I | T TR \V/
A 1 2 3 4
B 4 3 2 1
© 3 4 1 2
™ 3 4 2 1
S W HH HAE dret J9 § afves
T % TR P fArTed WeH A &
foTe forg 391 @l hfame gRT 2009 T T5
% 3T ASH TATE TS ?
(A) ST
(B) HieRcis
(C) it
(D) wRE
WIg S T SN feRAT ST €

(A) s dReR gt & fog
(B) @wior yeiferdt o Howish o folg
(C) orReI o Urer & forg
(D) feshrex =1 fowetomr & & fow

= 7 9 39 9 2 foem # sraen
T ?

(A) wifEm

(B) STertT

(C) it

(D) TR
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15.

16.

17.

Find the correct groups of statements :

I.  Attitudes are largely shaped by
personal beliefs and values.

Il. Employee work place attitude
are fairly stable overtime and
slow to change.

I1l.  Managers can correctly attribute
poor employee behaviour to lack
of motivation.

IV. Adult learners seek skill and
knowledge that they can apply
to their work or used to further
their career.

Codes :

(A) All are true.

(B) I, 11, Il are correct.
(C) I, I, 1V are correct.
(D) I, 1, IV are correct.

Which of the following is not
correctly stated ?

(A) Astrategy is a plan of action.
(B) A system is a linking of
organisation components.

(C) A process is a flow of

interrelated events towards a

goal.
(D) Quality is the degree of
productivity.
Match List — I with List—II :
List—1 List— 11
I. Lalbagh 1. Mangrove
Botanical Forest
Garden
Il. Sunderbans 2. River Island
1. Majuli 3. Mahabalipuram

IV. Shore Temple 4. Bengaluru
Codes :

Lonmov
A 4 1 2 3
B 3 2 1 4
© 2 3 4 1
® 1 2 3 4
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18.

19.

20.

Which one of the following pairs is
correctly matched ?

(A) Asia’slargest - The
inland salt Chilka
water lagoon Lake

(B) NehruTrophy - Goa
Boat Race is
held at

(C) Udaipur is — the Paris
known as of the East

(D) The biggest — Marina
statue of Beach
Thiruvalluvar
is at

Which one of the following pairs is
not correct matched ?

(A) Natural Shiva— Amarnath
Linga of Ice
is formed at

(B) A paved — Coaker’s
pedestrian walk
path offering
stunning
views of the
mountains
and the plains
below at
Kodaikanal is

(C) The place
famous for its
spectacular
sunrise and
sunsets,
especially on
a full moon
days is

(D) Queen of the — Goa
Arabian Sea is

— Kanyakumari

Which one of the fort made of bricks ?
(A) Ranthambhore

(B) Gwalior

(C) Bikaner

(D) Daulatabad

J-93-13
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18.

19.

20.

= § ¥ o9 o1 3 Wt foerar € 2

(A) TRETH T — oo o
TET TTA T

AT oA
(B) EI®m dle  — TN
A E
(C) ST AT ST — T URT i
T

(D) f®acqeR &l — WA
T et
EIREIN

=1 9 9 9 91 37 e T Hordr § 2

(A) % 1 et — s |/
TIAE |

(B) higEHATA H
TRl UGHNT
TR AT
% foTT Tt
T TR,
SRl & URTSt
foeTeTor g9
fe@mg S e,
TE

(C) fowiva: gt — FH=arHaRt
% e w3
IRT AR
I % ferg
g I €

(D) ORI AR H  — TN
T E

1 & @ i 1 fopet S 9 S § 2
(A) ORI
(B) TR
(C) sihrT
(D) IdETE
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21.

22.

23.

24.

Mumtaz Mahal (wife of Shah Jahan)
died at

(A) Saharanpur
(B) Burhanpur
(C) Agra

(D) Fatehpur Sikri

The archaeological site -
Nagarjunkonda is located on the
bank of which river ?

(A) Godavari

(B) Krishna
(C) Kaveri
(D) Vaigai

Rishi Sufi Silsilah which is known
for peaceful coexistence among the
different religion’s followers belongs
to

(A) Rajasthan
(B) Kashmir
(C) Gujarat
(D) Karnataka

Match List — | with List =11 :

List—1 List— 11
(Folk dance) (States)
. Karma 1. Lakshadweep
Il. Teratali 2. Jharkhand
I11. Grida 3. Madhya Pradesh
IV. Lava 4. Madhya Pradesh
Codes :

I i m W

A 1 2 3 4
B 4 3 2 1
Cc 2 1 3 4
;) 2 4 3 1
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25.

26.

27.

28.

29.

Imtiyaz Mahal is known as a

(A) pavilion in Shah Jahan’s Delhi
palace known as the hall of
distinction, today it is popularly
called the Rang Mahal.

(B) large hall for celebrations of
Muharram.

(C) hall for celebration of Eid.

(D) school for religious institutions.

A documents issued by the Mughal
Government to the foreign travellers
for their free movement was known
as

(A) Dastak

(B) Cartez

(C) Dastur-ul-amal

(D) Ain-i Sarkar

It is a body of water formed where
fresh water from rivers and streams
flows into the ocean, mixing with the
seawater without making a delta

(A) Strait (B) Estuary
(C) Prairie (D) Atoll

Identify the oldest hospitality chain
in India :

(A) The Oberoi Group of Hotels
(B) The Leela Palaces, Hotels and

Resorts

(C) The ITC Welcome Group
Hotels

(D) The Taj Hotels, Resorts and
Palaces

KOT and BOT are

(A) food and alcoholic drinks order
ticket

(B) complimentary ticket for food
and alcoholic drinks

(C) managers entitlement ticket to
dine in restaurant

(D) food and alcoholic drink stock
record

J-93-13
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(B) AW
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(D) hdleqx et
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25.

26.

27.

28.

29.

AT HEel ST STl &
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(C) 3% TR & foTd &fet
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el TR FRT el At st Tadw=d
€ F A5 o 0 IR {63 ST et
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(A) TEH
(B) e
(C) TER3 IHA
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T T U T § fyerar €

(A) =2 (B) uwEgER
(C) Wt (D) T

IR H God WA GehR @1 HiF 9
T

(A) T NERE JT 3 eieeq

(B) 3 oiren Yo, giee X Reie
(C) T AT IoTHT JU gy
(D) T A glecw, RSt 3iX dorm

KOT 3R BOT &

(A) T 3R AESH 9T T B S
=T

(B) W 3R UESH U USRi & forw
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(C) IRR= ¥ @H & folT yawsh &t
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(D) @I 3R AR UF UaTd H ©iH
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30.

31.

P-V Ratio Profit-Volume ratio is

expressed in percentages and is

calculated using the formula
Contribution

(A) T Sales x 100

Sales

(B)  Contribution * 100

Fixed cost — Variable cost

(©) Sales x 100
Total cost — Fixed cost
(D) Sales x 100

Which one of the following pairs is

correctly matched ?

(A) Designer hotels — Boutique
based on a Hotels
theme which
provide
luxurious
personalized
services and
facilities to
their clientele

(B)  These hotels
are situated in
large cities
mostly have
European plan
i.e. only room
and no meals

(C)  These hotels
are mainly
located on the
surface of the
water. The
facilities and
services of
these hotels are
similar to those
of a regular
hotel

(D) These hotels
cater specially
to the transient
passengers and
airline crew
who are
waiting for a
connecting
flight

— Transit
Hotels

— Residential /
Apartment
Hotels

— Capsule
Hotels
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32.

33.

Which one of following pairs is not

correctly matched ?

(A) Itisavery
attractive
manmade resort

(B) Itisan Indian
concept where
ancient Indian
Maharajas
converted their
palaces into
hotels after they
were stripped of
their princely
privileges

(C) Inthis type of
hotels, each room
or suite is owned
by several people
who will
schedule their
visit well in
advance with
management
office to ensure
that the room or
suite is available

(D) Itisatype of
hotel where guests
are fed traditional
Indian food of
royalty and
served by liveried
waiting staff

Which one of the following pair is

correctly matched ?

(A) In this type of
pricing plan,
charges include
room rent and
all meals

(B) Setting a
standard with a
comparable
competitor is

(C) Astrategy of
maximizing
revenue

(D) Aroom witha
sofa cum bed
ideally situated
beside
swimming
pools or
beaches

— Disneyland

— Palace
Hotels

— Time share
Hotels

— Palace on
Wheels

— Continental
Plan

— Branding

—Yield
Management

— Suite
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30. P-V IR Afceraar § oY-AET S
I T & 31T 60wt & wan o

qRafere fomar STrar & 2

(A)
(B)
(©)
(D)

SNEEE
T < 100
IEE
WX 100
Ia Aa — = AT
— x 100
FHel AT — I o
— x 100

31. =¥ 9B @ g W ey ?

(A)

(B)

(©)

(D)
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32.

33.

frfafad & @ &9 ¥ I8 W& T
foerd & 2
(A) T FRT AR — TeEiore
=T
e e |
(B) IE UH RAE — oG gl
oo T & STt
WA AR
RIS = 370
T fergretereRT
T dfad 89 %
SWT 310 TEett
I el § IRatda
T A 1 |
(C) TTAUFR Al — 2RH IR
H yedieh AT AT gee
FIRT % TS FS
AT o e o
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A 6 [T IR
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3R & TR Ty
FIATAT I Gred
FIAE |
(D) TAUFR FEReA — Uor i
o atfatert o
TRARE TR
TSTE @ fEerrn
ST & 3R a_t
e U o ERT
e oA ST ¥ |
T & ¥ % 91 g Wel e § 2
(A) T TE B GoI TH  — Fi2-
T AT HINRI T A=t
FHEY T TR Tl LSic)
T I i € |
(B) ToW@ ufdgFgar®  — witen
AT T e i
Fed & |
(C) T & Afyway-  — e
FHIOT B AN € | Tt
(D) U FHIT 9 diw- - gee
iﬁl-'lﬁ%’wﬁaﬁl'?ﬁ
T 9T a1 5 b
F IS |
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34.

35.

36.

37.

38.

‘Revpar’ is a term used in the hotel
industry to establish

(A) The Rack Rate
(B) The Occupancy Rate
(C) The Room Rate

(D) The Revenue per Available
Room

Which is a Greenfield airport ?
(A) Devenhalli Airport, Bengaluru
(B) Indira Gandhi Airport, Delhi

(C) Lok Nayak Jayprakash Airport,
Patna

(D) Sardar  Vallabhbhai
Airport, Ahmedabad

Patel

In which year Air India and Indian
Airlines merged as NACIL ?

(A) 2006 (B) 2007
(C) 2008 (D) 2009
Which event is associated with

Centenary year of Civil Aviation?

(A) Flight of Hery Piquet from
Allahabad to Naini

(B) Maiden flight of JRD Tata
from Karachi to Bombay.

(C) Direct flight from London to
Bombay

(D) Flying show over
river in Calcutta

Hooghly

Calculate the flying time a flight
leaves Ho Chi Minh City (+ 00700
Hrs) at 2005 Hrs and arrives
Frankfurt (+0100 Hrs) at 0615 next
day.

(A) 15.10 Hrs

(B) 16.10 Hrs

(C) 14.10Hrs

(D) 17.10 Hrs

Paper-I111
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39.

40.

41.

Free baggage allowance for economy
class passengers in airlines is

(A) 2 bags (pieces) where the total
of the 3 dimensions for both
bags does not exceed 273 cms.

(B) 2 bags (pieces) where the total
of the 3 dimensions for both
bags does not exceed 158 cms.

(C) 2 bags (pieces) where the total
of the 3 dimensions for both
bags does not exceed 115 cms.

(D) 2 bags (pieces) where the total
of the 3 dimensions for both
bags does not exceed 315 cms.

Which statement is true ?

(A) Immigration check is done for
all  passengers, Indian or
foreigners at the time of arrival
and departure.

(B) Immigration check is done for
Indians at the time of
departure.

(C) Immigration check is done for
foreigners at the time of arrival.

(D) Immigration check is done

randomly.

Assertion (A) : Bermuda Agreement
between UK and USA is the
basis of bilateral agreements
among nations in the field of
civil aviation.

Reason (R) : It was signed in 1945.
Codes :
(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.
(D) (A) is true, but (R) is true.
J-93-13



34.

35.

36.

37.

38.

LU 95 T YA &l AT H F1
it & % oI foan i € 2

(A) FHE

(B) ifeRpu=dl I

(C) &

(D) 3UcTsd Ucdh HHAY I ST

M hieS T3RUIE i T8 ?

(A) <A TS (STeT%)

(B) s iEt TIRUIE (fwet)

(C) AT STAWHINT TSRUE (T2

(D) TER FoomHE TA  TSRUR
(STEHITETS)

frg a9 d weR sFew oA ifemd
TReed NACIL % &9 § U g H
et 7T 2

(A) 2006
(C) 2008

(B) 2007
(D) 2009

IR foraT & Tt a9 F i 9 "

TEE T ?

(A) TERERT T A d% & fysae @t
I

(B) I § FEE A% LA T
I T ITH

(C) oida ¥ =g deh ! Trelt IgH

(D) oThal H gl Aol % X HeleT
o

g = fe 'Y @ (+ 00700 ©2) 2005
S W EE A T hehEe (+0100
H2) 0615 T W 3T foot wge ol
FATZE o S b THI i TUAT Y

(A) 15.10 5
(B) 16.10%C
(C) 1410w
(D) 17.10%5C
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39.

40.

41.

TIRARAT H ThHE a9 & U -

AN TASH &
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T
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T
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ST o S 2 |

(C) omma & T fagsiar  @f
AU S ! STt & |

(D) sHWYE Sitg it off ot 6 off
! ST Fehell & |

aﬁwuﬂ(A) g%, IR JUET, & o=
bl AN AT
%nma:aaﬁﬁu@ﬁmﬁa
g f5uelt Tmear & |
T (R) : 30 W oY 1945 H g&ier T
MY |
HT !
(A) (A) IR (R) I AT |
(B) (A) R (R) ¥d &, ek (R) We
T TR ¢ |
(C) (A)TH g, Al (R) Teid & |
(D) (A) Ted &, AT (R) T ¥ |
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42.

43.

44,

45.

Arrange the following trains in the
order in which they were started :

l. The Deccan Odyssey
Il.  Royal Rajasthan

I1l.  Palace on Wheels
IV. The Nilgiri Express

Codes :

(A) 1,11, 1 and IV
(B) IV, Il 1land |
(C) IV, Il land Il
(D) IV, I, land |

Which of the following is the leading

International healthcare accrediting

agency ?

(A) Trent International Accrediting
Scheme

(B) Joint Commission International

(C) NABH - National Accreditation
Board for Hospitals and Health

(D) UKAF - United Kingdom
Accreditation Forum

T GV is famous for
(A) Airlines

(B) Railway

(C) Cruise ship
(D) Resorts

Assertion (A) : In India both tour

operators and travel agents
assemble and sell  tour
packages.

Reason (R) : Tour operators are

wholesalers and travel agents
are retailers.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) & (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
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46.

47.

48.

49.

Which group of sequential itinerary
is/are correct ?

l. Orland — Dublin — Milan —
Dubai

II. Tel Aviv — Islamabad —
Kathmandu — Yangon

I1l. Boston — Madrid — Athens
— Istanbul

IV. Athens — Karachi — Dhaka
— Bangkok

Codes :

(A) I, Il &IV are correct.

(B) I, 11l & IV are correct.

(C) 1 &Il are correct.

(D) All are correct.

Wholesaler in the
Tourism Industry is

(A) Airline

(B) Tour operator
(C) Hotel

(D) Travel Agency

parlance of

Leaving a destination in a better
condition than you found it is known
as

(A) Enhansive sustainability
(B) Sustainable tourism

(C) Eco-tourism

(D) Clean-up tourism

What is cognitive dissonance ?

(A) Itis a tendency of the buyer to
purchase the cheapest brand
available in the market.

(B) It is the pre-purchase research
activity carried out by a
prospective customer.

(C) Discomfort caused by post
purchase conflict.

(D) It is the set of the bargaining
tools that a buyer uses to get
the best deal from the seller.
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42.

43.

44,

45.

FrAfeRad Yemieal &l S Scd &
Y T HARd i
I, T SopT antedl
I, T T
., oG 3T el
V. T Foii T
FHT

(A) 111, ISRV
(B) 1V, NI, 1l 3|
(C) IV, I, 13
) EVAIRIE: 3

freferfiad & 9 @i 9@ ol SRS

T TEIT ST TSIl & 2

(A) T AR aiiehor Tt

(B) 3TRISEIT TR 3T

(C) NABH — 3TdTell 3R @ &
ot Tt afienzor e

(D) UKAF — gATEee e amfientor
B

T.G.V. e foe uies & 9
(A) TR

(B) Yo

(C) =i form

(D) W=

AMMHA (A) : 9RA H I AR 3R
T R ST € |

% (R) : & AW A fashar iR
oot TSI QR forshall &I & |

H

(A) (A) IR ((R)FTTE |

(B) (A) ¥R (R) & & w1 (R)
TE! AT T8

(C) (A)TH &, Al (R) 31T € |

(D) (A) 3T &, oifeF (R) T € |
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46.

47.

48.

49.

fAffad & & ®F o a0 HH T

T § 2
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R

Il. O Ufed — TAHERE —> HIEAS
— T

. s/ —» dfge » == -
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FHT
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(A) TIETEA
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(C) @

(D) <ot et

Tl TTeT T @ SHE SeaX fefd o
BT fT 7 Y 7T 1, i Fel STl &
(A) Towgd Feaar

(B) HRASS 2w

(C) wwgeH

(D) TR 31T TRsT

HTHes Teq=g T & ?

(A) & T H TR H 3T T
T TS H TS H TH gl
T

(B) J& #g Ud IIHUM Tadr fmam-
HAT § S O UEH gRT
fepan ST € 1

(C) =T & U¥dIq &+ ool faas &
FHROT TG |

(D) ¥E Sl RT WA-TTT A HT Th
qeT & S foshal @ Ow W@ %
o fepan STt &

Paper-I111



50.

5l.

52.

53.

54,

The online selling of goods and
services to final consumers is known
as

(A) B2B online marketing
(B) B2C online marketing
(C) C2B online marketing
(D) C2C online marketing

In Tourism marketing, if supply
exceeds demand

(A) there is near certainty of price-
cutting by major competitors

(B) there is more likely to be a
mismatch between the holding
expectations and destination
experiences

(C) It takes long time to expand the
product service offering

(D) The service provider will
charge a premium price

In the context of “Theme Park”
Excitement will be referred to as

(A) Core product

(B) Tangible product
(C) Augmented product
(D) Facilitating product

When a marketer modify an exiting
product for the current market, he is
said to be following

(A) Market development strategy
(B) Market penetration strategy
(C) Product development strategy
(D) Diversification strategy

Which of the following is considered
as a challenge faced by destination
marketer ?

(A) Limited budgets

(B) Politics

(C) External environment
(D) All of the above

Paper-I111

55.

56.

Assertion (A) Motivation in
research is desire to get a
research degree along with its
consequential benefits.

Reason (R) : Research relies on
experience  or  observation
alone.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — | with List =11 ;

List—1 List— 11
(Types of (Characteristics)
Hypothesis Test)

I.  Wilcoxon 1. A univariate
matched hypothesis test
pairs signed using the
— Ranks test standard normal

distribution

I1. Binomial 2. To analyse the
Test differences

between the
paired

observation
taking into the
magnitude  of
the differences
I11. Kolmogorov- 3. A goodness-of-

Smirnov fit statistical test
One Sample for dichotomous
Test variables
IV.Z-Test 4. A goodness of fit
test that compares
the  cumulative
distribution
function for a
variable with
specified
distribution
Codes :
| 1 m 1\
A 1 3 4 2
B 2 3 4 1
(C) 3 4 2 1
D)y 2 3 1 4
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50.

ol.

52.

53.

54,

AT IuMieRT ¥ HHE AT Fersti ot
3T T feIshl e ohl hed &

(A) B2B 3 @A HIfhieT
(B) B2C 3ifF e HfhieT
(C) C2B 3iF e AfhieT
(D) C2C 3= e Hifehfe

e bR fauoe o afs ufq =@ 9

3fferes 9 ST &

(A) W@ UAFiTEl §RT god &9 AT
FS Fe e & STar € |

(B) 31@H®T UEmeN R TS
ISl H dd 9HA BH W
GVTeT & S §

(C) v&d fohu SIH aret Scurg/dar &

foeaR o 21fye gHg eiar ¢ |

(D) SU TR WM Sl Her
= Yo =t Ham |

“offy UTeh” o T W STET I T &
(A) R UEF

(B) <A visde

(C) ommE Uigse

oo

(D) HEfeTeT Uieae

S Shal-fehal U] SR % {oIT
HAISET 3R H OWaRd wd § al 39
Fed ©

(A) TSR foer™ TOHI

(B) WNIR &AM TWHIT

(C) scg fohra Tom

(D) fafeeer =ifa

=7 9 9 Tt T shal-fashdl gRT
I TohT ST aTeft ATt /T ST € 2

(A) Tifed seie
(B) TSI

(C) amr TarmeRoT
(D) 3o Jr
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WY (A) © 3FHEYE | Ui &
fau srgum fat & @ @y
et A o S B §

% (R) : FGYH Heet ST 3T J90T
W e |

HT:

(A) (A) 3R (R) 39 T & 2T (R)
WA= |

(B) (A) 3R (R) 3 I &, wifh
(R) W&l = &l & |

(C) (A)TEE, T (R) 3T ¢ |

(D) (A) A&, ffg (R) TT & |

56. gEi-1 3 Gelt-11 & e GHford BT

=it - | =t - 1
(aRepeaAT aRteror (=)
% UHR)
| foopies 1. U gHEREe

e UeRH QERIBIEE AR |

qre—g 9 ISEERsICED

TrEToT [ foawoT
T BT E |

. s 2. fem=w &

tegor Tiege # o
TT T UeI0T
T T A

TI9eITOT T |
[]. HIEMRIE 3. SEHEEd

E=roicher) Af@ee & fou

I WA AT
HireThig THeToT |

V. Z 9dteror 4. U IRATA &
for fafAfese
foreeoT & 41
Tt feeor
T T
GHHAT TRIETT |

FT

| 1 1w

A 1 3 4 2

B 2 3 4 1

© 3 4 2 1

) 2 3 1 4

Paper-I111



57.

58.

Which one of the following is not a
non-parametric ?

(A) “t’-Test

(B) Mann-Whitney ‘U’ Test
(C) Chi-square Test

(D) K-S Two Sample Test

Match List — | with List =11 :

List -1 List - 11
(Types of (Characteristics)
Hypothesis)
I. Phi 1. To examine the
coefficient differences
among means
for two or more
population
groups
Il. F-test 2. To use the rank
value of each
case
I1l. Anova 3. To measure the
strength of
association

IV. Kruskal- 4. To do a

Wallis test statistical test of
the equality of
the variances of
two populations

Codes :

I mn m v
A 1 2 3 4
B 2 3 4 1
© 3 4 1 2
M) 3 1 4 2

Paper-I111

18

59.

60.

61.

62.

The ability of followers to perform
their jobs independently and to
assume additional responsibilities in
their desire to achieve success is
called

(A) Maturity

(B) Authority

(C) Aggressiveness
(D) Assertiveness

All of the following are main
activities in evaluating information
except

(A) Acquiring information

(B) Comparing value with cost of
information

(C) Selecting data to be evaluated

(D) Using information in decision
making

The characteristics of the individual
who should be hired for the job are
indicated by the

(A) Job analysis

(B) Job description
(C) Job specification
(D) Job identification

Decentralizing an organisation is a
structural change aimed at

(A) Reducing the
coordination

cost of

(B) Increasing the controllability of
subunits

(C) Increasing motivation
(D) All of the above
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57. F= H @ &N |1 eWEd ekl (3
TRTHIENE) Tl & 2
(A) “t’ Tl
(B) Mann-Whitney ‘U’ uRieTor
(C) oIS Thaa¥ TIeToT
(D) K-S T dwe u’iefor
58. G- T Gell-11 o |1 GfeTd T ;
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TERE YIS 4 %
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A 1 2 3 4
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© 3 4 1 2
) 3 1 4 2
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59.

60.

61.

62.

Therar Wi & felw erEfeREl gn
Eaod ®0 9 % Hurd guar 3K

et fSTagR o =i Fed €

(A) aRT=E

(B) Wi¥sR

(C)  shma

(D) geuféa

FAA TH B SEH [ A FIAT

W%H@ﬁ—ﬁﬂ%

(A)  FEAT AT HEAT |

(B) ¥ A % WA qA FH A
HET |

(C) AT fohd STH ot 3fishg I
T BT |

(D) To o & F= T AT |

F % [T g W FAT S ool Ao

&l forgiuareti & IR # fmad Seoig o
T E ?

(A) = fagerdor
(B) = faaxo
(C) = fafcw
(D) =M H TEAH

frdt dea W foesewe T
TIIATCH TR T & ST feRam ST &

(A) TIGT AN Y HH & o1

(B) 3U-gH H Fa=AvNEl TEH &
ferw

(C) iR gh & foTT
(D) S &
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63.

64.

65.

66.

The following statement concerning
the grapevine is not correct ?

(A) Grapevine generally  are
irregularly used in
organisations.

(B) A grapevine can and often does
generate harmful rumours.

(C) The grapevine is used largely
to serve the self interests of the
people within it.

(D) In time and with proper
pressure, the grapevine can be
eliminated.

Which of the following is not a fixed
cost ?

(A) Cost of maintenance
(B) Depreciation

(C) Rent

(D) Cost of labour

Total assets turn over is

A) Cost of goods sold
Average total assets

B) Cost of gpods sold
Average fixed assets

©) Cost of goods sold
Average capital employed

(D) Cost of g_oods so_ld
Net working capital

Cash receipts and payments relating
to future contracts, forward contracts,
option contracts and swap contracts
when the contracts are held for
dealing or trading purpose is
considered to be a example of

(A) Cash flow from operating

activities

(B) Cash flow from financing
activities

(C) Cash flow from investing
activities

(D) None of the above
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67.

68.

69.

70.

Profitability in relation to
investments is not measured by

(A) Return assets

(B) Return on capital employed

(C) Return on share holder’s equity
(D) Expenses ratio

India is a member of the Executive
Council of UNWTO continuously
since how many years ?

(A) 15
(B) 17
(C) 18
(D) 19

The Ministry of Tourism is according
high priority to the development of
tourism related infrastructure for
which external loan assistance is
provided by the Japan International
Cooperation Agency (JICA) for the
development of

I.  Ajanta-Ellora

Il.  Uttar Pradesh Buddhist circuit
[11.  Bihar Buddhist circuit

IV. Nagarjunkonda-Amravati
Codes :

(A) liscorrect.

(B) 1&Iliscorrect.

(C) Iand Ill are correct.

(D) All are correct.

Visa on arrival scheme on India is
not extended to the citizens of which
country ?

(A) Finland

(B) Japan

(C) Cambodia
(D) Kazakhstan
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64.

65.

66.
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67.

68.

69.

70.

Rl & H9y # ARl feesh g
HITI el i A & 2

(A) TfTeTs IREH
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(C) IR Biosy Sioae! T et

(D) == s
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(A) 15

(B) 17

(C) 18

(D) 19

=TT 3o MeiHehar § T8l ¢ 578 fog
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(C) 13RINITEE |
ot T € |
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(A) TFreis
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(C) wwaitean

(D) HerEE
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Read the passage below and answer the
questions from (71— 75) :

The online travel company has
brought about remarkable changes in the
travel trade business in the last one decade.
Both online travel agents and the users of
travel services are being benefited,
resulting in many traditional travel
companies moving to on-line portal to
reach out the mass markets. In the cut-
throat competition, majority of them have
not even reached the break-even point due
to the more bargaining power of customers
and principal service providers. Barring a
selected few on-line travel companies other
best performers are finding difficult to
overcome the chronic problems of making
customer satisfied by adopting pricing and
cost strategies.

Under this circumstance, XYZ
consultant was appointed to prepare a
research report on the problems that largely
affected the on-line travel companies to
reach at break-even point. The consulting
firm submitted the report after making both
qualitative and quantitative research
studies. The study included a well-
structured open ended and close-ended
questions along with demographic and
independent statements pertaining to the
research problems. The consulting firm
used the hypothesis to test the differences
between the wusers and non-users of

services; lower-middle-higher  income
group; educated-non-educated, public-
private  jobs;  business-leisure travel;

budget-high-end spenders.

The questionnaire also contained
ordinal scale with likert type to elicit
opinions from a sample of 5000
respondents from 20 cities comprising big
metro cities. The consultant submitted the
report with many suggestions.

71.

72.

73.

74.

75.
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The problem for which the consultant
was appointed includes one of the
following :

(A) More bargaining power
(B) Reaching larger market
(C) Break-even point

(D) All the above

Which one of the following research
method was adopted in the first stage
to explore the problem ?

(A) Quantitative research
(B) Qualitative research

(C) Descriptive research

(D) All the above

Which one of the hypothesis test is
appropriate for the users and no-users
of service ?

(A) ‘T’ Test

(B) ANOVA Test

(C) MANOVA Test

(D) Friedman Rank Test

Which one of the appropriate
analysis may be used to draw logical
conclusion of the statement type
question in likert scale ?

(A) Reliability Analysis
(B) Standard Analysis
(C) Factor Analysis

(D) Trend Analysis

Which one of the following is the

standard level of testing the
significance of hypothesis test ?
(A) 0.10
(B) 0.20
(C) 0.05
(D) 0.01
J-93-13



frffed Mo w ufew 3R we  Hem
(71-75) T U91 & ST SITT

U=t U 391 H STFelTeT AT S =
I AR FGAE | 3ol INed= ol
T | TEY AN WAl & e IRl 3R
ST AT Ao &l 3 &, IR g 9
ANTE & @ E Ak 9 aNR d agar ST
T | TG AT IS WA § S8 TTHH9w:
Ul I SAET Hi-dict Wi 3 q=T Tl
TEIATe % HROT {1 @mEl fog 9% @
AT UIT | S 3iele AT HuHA Sl
T, o 91l HUET ®l FeH B HERT &
foTe 3taa gog 31X oTd IUFITT & §RT Areeht
B G FAH B WHT IR G T A H
feerhd ST W@ & |

T uRfefqal § U e Hul
o1 o8 o W 9ge & auwnet &
3T o ol oY ROie GaR & & XYZ
FARHR T o et & T | TeARER FH
q T SR TS WY TR R
RUie <1 fopam | I oMY oTedd U o7 @
T oA 3 IR §% I ot U % T Iy
TUENST bl SIS 3T T gade d
ROl o1 | RSN FH F HATS ST
FA A AR YA T FA Al H AT
FH & AW Uheuren &1 gAT Rt e,
W, 3=, M 9, Tt SieTierd, Wresih
T, ST 3R T Gt |

T TEel H 20 e % 5000
STETSH & g4 & foari % Tel 2 & o
Ordinal Scale & @ Likert type @ ot
U@ fHam T | 3H TARDR AHT T HE
o ot 3w |
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5 Tt & forr detesr &t Fgfe
Te o, 30 9 UH o

(A) SR Aie-diet IfeRT
(B) ¢ ANIR T YgaHT
(C) e fog
(D) ST Tt

TEETAT & U W A9 & U
I | MY T AT 7T ?

(A) TS Iy
(B) U IMg
(C) foeRomeHs e
(D) I Tt

Janait H ST H A AR ST T
FA Al % [oTT HIF Tl ThedT el § 2
(A) ‘T’ Test

(B) ANOVA Test

(C) MANOVA Test

(D) Friedman Rank Test

fhe T U 99T UK & Ul &
difeees f1op8 & foiw w9 @1 favermor
STH & Wb § ?

(A) TovaE-r fageryoT
(B) WM fawerwor
(C) =R faveryor
(D) vaTE fawersoT

TeheUAT Y0 & T T H 9 B Al
TR TRIEI0T HEwqul & ?

(A) 0.10

(B) 0.20

(C) 0.05

(D) 0.01
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